Question Paper Title : TI_12

Date of Exam : 08-07-2019 02:30 PM

Reference ID:(8141)  Wredr:
(-30) + (-30) + 10 - (-30) x (-2)

A27
B.53
C.-93

D.-67

Answer: C.-93

Reference ID:(7866) Choose the appropriate prepositions for the given sentence:

We left the camp early that morning, hiking the lake breakfast.

A.around ... before
B.across ... during
C.into ... after

D.through ... at

Answer: A.around ... before

Reference ID:(7872) Out of the following options, identify a simple sentence.

A.We would have won the match if it hadn’t rained that day.
B.The country is culturally unique.
C.The movie had a great storyline but extremely long.

D.I always go to bed when | feel sleepy.

Answer: B.The country is culturally unique.

Reference ID:(8133) Ul siqqded 5 fUaeaT, 4 fgaar Sfor 3 Uie=a1 iedr 3iTed. SR dTeiwsduu] 3
el HIeedl, d T IRBAT W1 THUITRI GHTSd B 38?



A.41/44
B.44/41
C.55/13

D.13/55

Answer: A.41/44

Reference ID:(7882) RepTHt ST 4R,

A TTOT 91T + 1Y) TR
B.dd AT + hdd dIa
C.UY dT + 0T 9T

D.Igad arag + 70T arag

Answer: C .Y aTR + 0T dT

Reference ID:(8108)  ThgdRI 2019 HH, HERTY R SMTGaRiT TSRS el Glofi
3{TeTal JugrTa! At RTfid o, fora sreqed 3.

A TSitd Rl
B.3ATHTRT aHf
C.fade dfed
D .11 Ryaapt

Answer: c.faae dfeg

Reference ID:(8121)  HWERIYHH fUdes@R vl & fRRUd siga?

AgO
B.ATRI%

C.3RATETg
D.IdaR



Answer: C.Gi:R"II@IIa

Reference ID:(8128) U SRAUTHH HH YUl HRUTMTS] G, AfGET 10T =07 At 8:5:1
3R TUTRRTA Fgardt Feil el AT i dafadss ad- § S 5:2:3 3/ fad
1. Fatd T@UT ¢fHe da 371 U Tde e, Tdd ufie UeH axid Ul
< I FIal.

A.280 BT, 71 3UY, 21 UY

B.280 Y, 70 ¥UY, 21 3UY

C.281 30, 70 304, 21 34

D.280 ¥UY, 70 3UY, 20 STY

Answer: B.280 IUY, 70 3T, 21 T

Reference ID:(7865) Choose the correct form of modal auxiliary verb for the given sentence:

I travel to any distant place alone.

A.shall
B.need
C.may

D.can

Answer: D.can

Reference ID:(8102) 1921 A AW [dgE $S HTel?

AHIER

B.3[clIQR

C.5H
ANEAR

Answer: AHIAER



Reference 1D:(8112)

Answer:

Reference 1D:(8143)

Answer:

Reference ID:(7860)

Answer:

Reference 1D:(8139)

Wb HIva HRATeAT UfEe HrTHeRe Jaid Uri= gdd I 318?

A.3RTa

B.TAqel
c.fgarem

D.fdeg

A.3RTA

IR PIEl.
32, 48,96, 73, 15 & 66

A.44
B.55
C.33

D.22

B.55

Choose the appropriate articles for the given sentence:

The Mukherjis have son and daughter. son lives with
them.

A.the, the, No article
B.a, a, The
C.a, the, A

D.no article, no article, The

B.a, a, The

M &R fea=it 5 TS 1Y 1okl 3107 =y feadrel 3 S 1Y Wehdl. I Ufged
fea=ft wrrer AT, Ty gu=ar faa=i S Adl Sl AHGR d T feadrsre
HIATR JdTd. SR I B GUf ol 3R R IHT 125 TS HTIUAITS! fabei!
f3ay arTaa?

A.15 feag
B.16 f¢ayg
c.25feag



Answer:

Reference ID:(7891)

Answer:

Reference 1D:(8135)

Answer:

Reference 1D:(8125)

Answer:

Reference 1D:(8106)

D.31 feayg

D.31 feag

TSTd A JHUNRT Qo 3esl.

A.3fTearen
B.3{TeUr

C..3fTedTaTedn
D.3fleT

A.3fTedrdn

SIH A UG YAdhdd! U JHIUIT dled.

Ufgdl Ug S1al.

A7
B.20
C.17

D.5

A7

, 12,

, 27.

T HIU SATT0T AT JaT aaTe SRIER] 48 Y 31Tg. el gaid UIR

31:17 31Tg. GolTd 99 BT 3HTg?

A.35 T8
B.34 aY
C.36 %
D.26 %

B.34 9%

6 I8 o 14 I8 gaTtA d TG G Hithd ST Sfard fReror

RISl YRR SfqUMT=ar 21-A S=Sardl S U U Sid:

AAYd Hdd



B.gAYd UBR
C.Y IR Aéwe da
D.AFTR&

Answer: B.HcHd DR

Reference 1D:(8123) A HUS Jdt HUSTUEH STelg dsdd BRI .

A IHE TTuTt INYUGT GHT0T SR 317d
B.ITH UTUH RNYULT GHTOT HHT SRTd
C.JId fsds It 3rfd

D. i Safehdl TiTedt Sid

Answer: B.THEY UTUT YMYUGT UHTOT HHT 31d

Reference ID:(8131) U ¢ad 2000 TUTHE WG ohell 30T 1800 FUdT AT fagh! deil Tie.

dicaTt TabaR] BT,

A.10%
B.5%
C.15%

D.12%

Answer: A.10%

Reference ID:(7854) Choose the correct form of adjective for the given sentence:

| don't really like too much of food as it makes me feel sick.

A.variety
B.excessive
C.purity

D.rich

Answer: D.rich



Reference 1D:(8136)

Answer:

Reference ID:(8113)

Answer:

Reference 1D:(8124)

Answer:

Reference ID:(7864)

T SaTS! 16 forHl/arTean TeaRed 3 Ge Sfid 318, 356 fardl uam
DHRUYIST ARTUNR] d5 P,

A.21 a9 70 fafae
B.22 di 15 fafae
C.22 a9 25 fafae

D.22 a9 55 ffAe

B.22 d 15 fafae

SR & AT (STelT) SHaruET Y ddedren WRUNEd U 24
AT ol ST &ERAT Gy |ISRT el S,

ASI. Sfc-t 3 digae It
B.Sl. d39 TR

C.31. 3 Dl

D.S1. TSds ok

C. 3l s

I AT BTAT HEHTT FUM=AT HHI STET=AT AT TEUTdd.

Which of the following options best combines the two given sentences?

You will get good marks. You work hard.

A.You will get good marks working hard.
B.Working hard, you will get good marks.
C.You will get good marks if you work hard.

D.You work hard you get good marks.



Answer:

Reference ID:(7851)

Answer:

Reference 1D:(8101)

Answer:

Reference ID:(7852)

Answer:

Reference ID:(7889)

C.You will get good marks if you work hard.

Choose the option that has the correct spelling for the missing word in the
given sentence:

Amit is very careful and works hard at all the projects; he is quite

A.dillegent
B.dilegent
C.dilligent

D.diligent

D.diligent

URAHE EOY YRIBRIEN 20 T TS 31 TUSISR 31 & STRETS
WAl BT fAds HIuard 3ieit?

INEEHRSIS
B. 31T Uil
C. Ryt e
D.ASIR 38HG

A Rreerd e

Choose the appropriate option with the correct punctuation marks for the
given sentence:

help me i'm drowning

A.Help me, | am drowning
B.help me | am drowning
C.Help me! I'm drowning!

D.“Help me! I'm drowning!”

D.“Help me! I'm drowning!”

Reprrr Smft g uata fRaeT.,




Answer:

Reference ID:(7890)

Answer:

Reference 1D:(8117)

Answer:

Reference 1D:(9692)

Answer:

A RTec il 3y
B.SHITad! 3y

C foparfarivu sreqy
D.hayaNt e

c forarfavivo srag

HERIPMHTE el 81 i T UhR

AT
B.R1a

CXXMH

ALY

AT

77 _44 121
36 27 B5g ool

A11/4
B.11/3
C.9/11

D.7/11

A11/4

..... Y 3 AT,

9T WBHIYUN GRiad!.



Reference ID:(7897)  JeldUd! PHIUT Ve A1 A faifgan sig 2

AUgd
B.Utad

C.Ugd
D.U%d

Answer: AUsd

Reference 1D:(8109) § U 37U 3118 ol el UGWUI T HEwsTgR UebTIRId 1P gal

o

T[uTaT FIGRITBTaR (TRIS) &R Tl Sea- JRad.

ATRAIR

B.IHR

Cdsh

D.fe=m

Answer: B.gHR

Reference ID:(7886) I yafarit fAgs .

Answer: A.ﬁ?ﬁ

Reference 1D:(7894) PRI ST 4R,



Answer:

Reference ID:(7898)

Answer:

Reference 1D:(8118)

Answer:

Reference ID:(7871)

Answer:

Reference ID:(8105)

c.gu
D.O3

Ueld aTRER A Siutar garg fAaer.
IWS UG gl-

A 3MYIBRE e g0l

B3[P Hdhe igaul
C.BTcll Blord = 30!

D. 3 dHd UTd groy

D. 3 dHd U groy

YR HfGUTr=an SIUrn Sr=sarmed yycdien faarmd Sauarard! fadas
IRG ST IsauTaTed SRRl Teiferd avde el smg?

A.STRG 443
B.3fJ®5¢ 345
C.31=q 76

D.3{w5G 200

D.3{J=5¢ 200

Choose the correct form of verb that is in agreement with the subject:

Neither his father nor his mother ___alive today.

A.are
B.were
C.is

D.has

C.is

&gl o< B SRl TS fpRUS! @vTd R 3fgd?




B.HERIY
C.ID

D3y TS

Answer: C. BB

Reference ID:(7881)  “TT TSl YT USII.’ TT AT “GUT ST § YeIaideh! HIUTl YR TUMarad
3Mg?
A RJdcyiP fharfaRivur g
B.®TdcyiP fharfaRivur areg
c.Racele frarfaiyor are
D.ddrderie foharfaie T arag

Answer: c fracxi® frafaviyo g

Reference ID:(8144) U fafRI¥ HTYHL, UTENSIL & WVGPUKN 31 Tdhdaeq ohal SiTd, TR
AMSFXG 3RIUGBR 10T JeaTal Yhdaeg bl Sed?

A.BKQDWE
B.BKQDWF
C.BKQEVE

D.COURHZI

Answer: D.COUHZI

Reference ID:(8114) TSI SIeTAN-10 HERIPTA TelaR fRUd 3M1e?

A TSR

B.3MM
c. o

D.3{dl

Answer: D.3{dl



Reference ID:(8127) ‘DESIGN’ IT Y& frelt fid TR AU Hrdl Jd STuldhRe- Gla! el
TR AIe?

A48
B.24
C.64

D.56

Answer: A.48

Reference 1D:(7880) Yeidl Qeard e aficaw.

Answer: CHWT

Reference ID:(7856) Fill in the blank with the correct noun in the given sentence:

New are generally found whenever our thinking can tackle new ideas
without obstacles.

A.discovery
B.invention
C.innovation

D.solutions

Answer: D.solutions

Reference 1D:(7899) JaId JIavRIel aiv St uaid s,
BIdId P11 Ul

A.dg@ Iul

B.HISUId HTaT aTuRur



Answer:

Reference I1D:(8110)

Answer:

Reference ID:(7650)

Answer:

Reference 1D:(8146)

Answer:

C. 3R TSGR TS DIl

D.&auur fAHTgor

A.dg@ Iul

JYGACT 10T GefeelieaT UeRITd e o 81 HeRIgrean Riygr offor
A AR
B.3T0!

C.|IdR1

D.qU!

B.3T0I

Choose the option that has the correct spelling.

A.Frastration
B.Frustration
C.Frestration

D.Fustration

B.Frustration

Toh! Afg=ard Hd 3 T Udd! 675 ST aiid 7 WRFRIY U9 U]
130 ¥UHT fadsd ddd. fad ot giddh Udeht 750 TUHT MO LR I
YAdP! 160 ST fadhd. TR faA fasdl AT Saraar?

A.215 308
B.360 ¥UU
C.435 30
D.500 ¥Ud

C.435 3%



Reference 1D:(7884) Qe aITd 36 il
3T 31t BT U e Hisar IR

A. 3Tt

BRI UY
C.faammd

D.HiSdl

Answer: B.el U4

Reference ID:(8107)  HId 2018 A HERIPT HYERIGRIE SR HgRidTeis WU HIum Fgedt
DHRUGId HTeAT?

ARA ¥R Rig

Answer: ATRHA R ﬁlTs'

Reference 1D:(8116) G0 DI FYATS P Wied YRIHR FHIT VAT HTci?

NG|
B.gHd 1@
C .S ST
D71} agar

Answer: A.a'd TI'éDI

Reference ID:(7877)  WTdiId XIeaiTelqd favGrd A ST i,

AR - 3gIe

B.3ad! — Al

C.3ad — 3

D. 3HfAqect — et
Answer: D.3ffargect — gt



Reference ID:(7876) fediedT YsaiTerdH favaf e s,

ATR
B.TRH
c.fawe

Answer: D.§9d

Reference ID:(7859) Choose the option with the appropriate suffix to complete the given
sentence:

After trying for a long time his persist paid off and he finally got a job.

A.-ence
B.-ing
C.-ance

D.-ant

Answer: A.-ence

Reference 1D:(8111) ®IgY 3t TR g Fald HS fbdbed WRS HERIYHHI Hlvran e
Rq amg?

Answer: CH&f

Reference ID:(8147) 5009 &1 B 3 aTuReH 4 3{h! 3RIciedT diTavTeadT o e fiasad
cid?

A3

B.6



C.12

D.18

Answer: B.6

Reference ID:(8129)  T& fadhdl 20 faeea=lt Ter SUaTal fash! dHral ATgR T 60% -THT Bidl. =
U1 TUTTAT fohel! [Gaed Weal dredl Saa?

A.30
B.32
C.34

D.36

Answer: B.32

Reference 1D:(9691)

@:@;@;”

Answer:



Reference 1D:(8137)

Answer:

Reference 1D:(8104)

Answer:

Reference 1D:(8134)

Answer:

Reference 1D:(8138)

B T o1 BT A T ATTTUET SR 3{Tg. A 31107 B AT UHUT a7 7 fsii/arg 3ig,
A R 4 T 3101 B R 3 AL HTUae TRl 3faR 24 fohtft 3mg. A ST B
1 T DY G2

A.A=4 THH/AaN, B=3 faHldN
B.A=5 foHl/aM™, B=2 fhHi/d™
C.A=2 fHHIaM, B=5 fohHldN

D.A=3 foHl/dN, B=4 feH/aNg

D.A=3 foHl/dN, B=4 feH/ag

TS AU 2019 REGRA, GRMAT Haid W I U
o RGP HRUTTd 3T,

A TUTS
B. YR
C.HIuTes
D.3WI&

C.HIUIe

SR 7,6 ,12, x 3101 9 =1 70T He 10 318, R x d A 3Te.

A10
B.12
C.16

D.14

C.16

SR 9 HTHIR U il dityhpTH 28 AIHE B3 Ubdld, dR od HIH 21
AT BT fohdl TR IRl 3Td?

A2

B.15

C.18

D.24



Answer: A.12

Reference ID:(7867) Choose the appropriate prepositional phrase for the given sentence:
One has to adversities in life.
A.put on

B.swim along
C.go on with

D.put up with

Answer: D.put up with

Reference ID:(7870) Choose the most appropriate usage to fill in the blank in the given sentence.

That pathway is ; | nearly fell down.

A.slippage
B.slippery
C.slipping

D.slipped

Answer: B.slippery

Reference 1D:(7896) faqyaita TH Ul fdvdll UHR 3MMed?
Ao
B.R
C.¢c

D.&

Answer: C.C



Reference ID:(8132) Ul UCIHE] Ush S 31id 3MTd, ATAUD! U JAIATRT e WIS FTQt. SR
Irefsduul UHYH 3 3id dled, R Hasded dF sisaiaid fear s
3{iST AT ST YU BT 3HTg?

A.53/55
B.54/55
C.3/55

D.2/55

Answer: B.54/55

Reference ID:(7887) JURRAT fehargaiaT 9 TR 3wl
I HHIY A0l Yhad Tegd.

AR
B.gTferd

C.qgad
D.gl®

Answer: AR

Reference ID:(7873) Choose the correct form of tense for the given sentence:

When the Queen she she wanted to rest.

A.had finished eating, declared
B.have finished eating, declares
C.have finished eating, declared

D.has finished eaten, declares

Answer: A.had finished eating, declared

Reference ID:(8145) R SIft v W FagH @ quf &

3,9, 27, , 243

A.81
B.72

C.90



D.75

Answer: A.81

Reference ID:(7863) Choose the most suitable determiner for the given sentence:

The children were bored because there was to do.

A.each
B.little
C.any

D.some

Answer: B.little

Reference ID:(7878) SICRIEAR R R CRE CECI

A GIUTRTIET

B.gUgHd
C.31f¥HeA
D.GTSHlel

Answer: C. 3T

Reference ID:(8115) U FUGH dobdl A1AgG & Y YT Syt gud U
TS faemared (Sidee) FeduR ufed YR §97d 31Ted.

A DI RebT
B.UHTHT

C pleiferan
D.7aTeHTe

Answer: A DR RepT

Reference ID:(7893) e T YeqTd S ad sl

AT



Answer:

Reference ID:(7869)

Answer:

Reference ID:(7857)

Answer:

Reference ID:(7868)

Answer:

B.dTY
Cc.am

D.ardm

B.dIJ

Choose the appropriate conjunction for the following sentence:

| had reached home it started raining heavily.

A.hardly, then
B.scarcely, since
C.no sooner, when

D.scarcely, when

D.scarcely, when

Choose the appropriate collective noun to complete the sentence:

was seen lying in front of the municipal’s office.

A.A heap of trash
B.A litter of rubbish
C.A pile of garbage

D.A swarm of litter

A.A heap of trash

Choose the most suitable conjunction for the given sentence:

The belief in life after death is prevalent in both primitive societies
advanced cultures.

A.and
B.besides
C.but

D.as well as

A.and



Reference ID:(7879)

Answer:

Reference 1D:(8122)

Answer:

Reference ID:(7853)

Answer:

Reference ID:(7883)

e Yeg T e (HaST.

A frared
B.WTRASI

PRI HETSHUGTE! ST Wit HIoTd glar?

ATYRT
B. IR

C.fasigT R
D.SANTS

ATRT

Choose the appropriate option with the correct punctuation marks for the
given sentence:

the sun was already low in the sky it would soon be dark

A.The sun was already low in the sky it would soon be dark.
B.The Sun was already low in the sky it would soon be dark?
C.The Sun was already low in the sky; it would soon be dark.

D.The sun was already low in the sky: it would soon be dark.

C.The Sun was already low in the sky; it would soon be dark.

Jeid ardd e Irg a3l

A TSI T e,
B.TGATd T SieedT.,
C.TT&ATd T Siefe.
BRIIDIGRII IR



Answer:

Reference ID:(7858)

Answer:

Reference ID:(7855)

Answer:

Reference I1D:(7862)

Answer:

A TSI T Siere,

Choose the option with the appropriate suffix to complete the given
sentence:

| am confi that Ravi will achieve his goal.

A.-dant
B.-dence
C.-dent

D.-dently

C.-dent

Choose the correct form of adjective for the given sentence:

The accused was given a short sentence as he had committed only a
offence.

A.mild
B.minimal
C.secondary

D.minor

D.minor

Choose the correct form of verb for the given sentence:

The climate generally temperate and winters tend to be chilly.

A.is
B.are
C.were

D.are being

A.is



Reference ID:(7885)

Answer:

Reference ID:(7888)

Answer:

Reference 1D:(8140)

Answer:

Reference 1D:(8130)

Tt — areITaTae Siurdn 31 T S

A faerf
B. 3R

c.@rd
D.Gpard

D.Taared

o, C [a Y N
[P ATIGIAR Sl A FUE] fHae o,
.......... HISTTUNER Weadld.

AgRHE
B.fo=

C.gg™
D.gail

B.fo=

Ueh] Ulfder e 14 Sd 3MTgd. UhT SHATHL 8 HRIA 3HTad. SR UHU 23520

SR I, TR SHHE HRgedd Ul Hruga! favedl ddbead
K| CRAC REN I d

A.210
B.201
C.110

D.2440

A.210

9 UahT i fpmdiar 10 Nt 39 TR dal 3o it 8 AT fbddiar
faar. e fed) ege T fohar At gisa?

A.20 % dlel
B.20 % ]
C.25 % dIel

D.25 % W1



Answer: D.25 % W]

Reference ID:(7875)  facied sqirerqd arg SHTT Trsg faer.
3

A3Hd
B.3#HIq

C.34d

D.3&C

Answer: B.3Hlaq

Reference ID:(7892)  J&Id ATHIA A fa=Isorm=n watg fAger.
K|

Answer: AdISH]

Reference ID:(7895) 1 Teq SIS HIUId AR aTaRdra?

ASSRIEE
B.U4<g
C . ¥amfs
BRIINCA]

Answer: C.?@W&I%’

Reference 1D:(8119) HERTFTHA GER B §S Ul & SINIENG FoTegiTT

ADAE
B.U3UI

C.geeETe



Answer:

Reference 1D:(8142)

Answer:

Reference 1D:(8103)

Answer:

Reference 1D:(8120)

Answer:

B.USI

U faenff g1t 9.40 aToiar TRHT WMo d SiTar 0T YeATHTS! 4.15 ITSTdl
TR URd Adl. SR 10T JuarHe Srefdr W gl e ak IO YTSHE
gradedr 9o HfEd &,

A.6 A9, 5 fafe
B.5 a9, 4 fafae
C.6d™

D.5 di¥

A.6 A, 5 fife

HERTY IASATATHS dTSIeT SHURT T Uebed $& YT 31872

ATEQR
B.ANTR
C.3TETg

D.q0!

ATER

2019 Hed 23 T 3RATS Sfyafewy IMRRARIT-2019 Hed §PTUG
HRIGHATAE WD HIvT ToTd U fSiha?

AT TRIgY
B.3g (UM
C.Xau1 44

D.UTSd TR

C.au1 99



Reference 1D:(8126)

Answer:

Reference ID:(7900)

Answer:

Reference ID:(7874)

Answer:

Reference ID:(7861)

Y ST AEAGTAT T 16 N BRb 3MTg. SR 6 IUg| Igd 9

ST 9aT=AT 3 US 3Ad, d) JHAGd 9dHM 9 HIEl.

A14 TS
B.30 a%
C.15T%
D.18 %

A.14 d%

2005 T INf RIS HTIST 2005 AT Hel T giar.

A.2 3ffFTER

B.15 S
C.15 3Re

D.26 SHdR]

B.15 9

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

Harold was always so full of himself and his wonderful ways that he gave a
cold shoulder to every member of his team.

A.Giving full attention
B.Always helpful towards everyone
C.To be friendly

D.Ignore people

D.Ignore people

Choose the appropriate articles to complete the given sentence:

boy in the blue shirt has kicked ball out of football field.

A.A, a, an
B.A, an, a

C.A, the, an



D.The, the, the

Answer: D.The, the, the



